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	 大学英语B模拟六
Part I: Reading Comprehension(40 points)
Directions:There are four passages in this part. Each passage is followed by five questions. For each question there are four choices marked A, B, C and D. You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.
Passage 1
It is reported that 6. 5 million Americans jog for exercise. The popularity of jogging has been heightened by medical claims of the benefits derived from regular participation in this activity. Regular jogging is credited with promoting a “training effect” which conditions the heart to do more work with less effort; increasing the efficiency of the respiratory (呼吸) system by strengthening the muscles that assist breathing; increasing blood volume in the body, thereby increasing the oxygen-carrying capacity of the circulatory system; promoting blood vessel flexibility; aiding the digestive system; and helping to maintain proper body weight through the high calorie expenditure. It is reasonable to assume that the number of adult joggers will increase if this activity is properly taught and encouraged through school physical education programs. Children should be taught how to jog as well as to understand the benefits. It is recommended that motivational programs such as the National Varsity Club Sport Award be utilized to provide added incentive (刺激) for school jogging programs. In addition to learning the physiological effects of training noted above, students should be given the following information as guidelines for their personal jogging programs.
When jogging, run in an upright position, avoiding the tendency to lean. Don’t look at your feet. Hold arms slightly away from body, with elbows bent so that forearms are approximately parallel to the ground. Occasionally shaking and relaxing the arms and shoulders will help reduce the tightness that sometimes develops while jogging. Periodically taking several deep breaths and blowing them out completely also will help you to relax.
It is best to land on the heel of the foot and rock forward so that you drive off the ball of the foot for your next step. If this proves difficult, try a flat-footed style. Jogging only on the balls of the feet, as in sprinting, will produce severe leg soreness.
Keep steps short, letting foot strike the ground beneath the knee instead of reaching to the front. Length of stride should vary with your rate of speed.
Breathe deeply, with mouth open. Do not hold breath.
If for any reason you become unusually tired or uncomfortable, slow down, walk, or stop.
1. The underlined phrase “training effect” in paragraph 1 ______.
A)rarely happens while participating in jogging
B)is beneficial to the body
C)occurs in professional athletes only
D)can make us work with much efficiency
2.If tightness develops in the arms and shoulders while jogging,
you shall ______.
A)slow down, walk, or stop at once
B)shake and relax arms and shoulders???
C)hold arms away from body
D)bend elbows

3.Which of the following is correct in jogging and sprinting?
A)You shall use the same foot positions.
B)You shall breathe deeply with mouth open.
C)Jogging and sprinting can result in sore muscles.
D)Jogging and sprinting should be done with different foot positions.

4.A title for this article might be _______
A)Jogging Why and How
B)Jogging: the Physiological Effects
C)Proper Arm and Head Positions while Jogging
D)A Jogger’s Lament

5.Which of the following is NOT mentioned in this passage?
A)Jogging can strengthen the breathing muscles.
B)Jogging can promote blood vessel flexibility.
C)Jogging can help the athletes improve their performance.
D)Jogging can keep people’s weight.

Passage 2
No one plan for a garden can suit all conditions. Careful planning will lessen the work of gardening and increase the returns from the labor. Planting seeds and plants at random results in waste and disappointment.
The first consideration is whether the garden is to be in one unit or in two. With two plots, lettuce, spinach and other vegetables requiring little space are grown in a small kitchen garden. And potatoes, sweet corn, melons and other vegetables requiring more room are planted in a separate patch, as between young orchard-tree rows or in other areas where conditions are suitable for their culture.
The cultivation methods to be employed are important in planning the garden. When the work is to be done mainly with a garden tractor, the site and the arrangement should be such as to give the longest practicable rows. On slopes of more than 1 percent, especially on light-textured (质地) soil, the rows should not cross the paths, and turning spaces of 10 to 12 feet should be provided at the ends.
Any great variation in the composition of the soil within the garden should be taken into consideration when deciding on where to plant various crops. If the land is low and moist, such crops as onion, celery should be placed there. If it is high, warm and dry, that is the proper spot for early crops.
Permanent crops, such as asparagus, should be planted where they will not interfere with the annual plowing of the garden and the cultivation of the annual crops. If a hotbed, a cold frame, or a special seedbed is provided, it should be either in one corner of, or outside, the garden.
Tall-growing crops should be planted where they will not shade or interfere with the growth of small crops. There seems to be little choice as to whether the rows do or do not run in a general east-and-west or in general north-and-south direction, but they should conform to the contours(轮廓) of the land.

6.The best title for this passage would be_______.
A) Growing a Vegetable Garden
B) Cultivating a Garden
C) Problems in a Garden
D) Using Home Grown Vegetables

7.It is most important that rows ______
A) run east and west
B) run north and south
C) slope 1 percent
D) conform to land contours

8.Vegetables requiring little space are ______
A) spinach B) corns C)celery D) asparagus

9.The author suggests that ______
A)planting seed should be done randomly
B)paths should not cross the rows
C)all gardens be planted alike
D) hotbeds, cold frame or special seedbeds be provided

10.Which of the following is not taken into consideration in planning a garden?
A) Field position. B) Plant seeds. C) Cultivation methods. D) Soil composition.

Passage 3
Most people are familiar with the quotation from Shakespeare about the world being a stage and all the men are players. Today Shakespeare might change that a little the entire world is a street and all the people are merely joggers. Jogging has spread across the nation like a busy bee buzzing through a wildflower patch. Otherwise normal people are suddenly struck with the notion that his or her life depends on running oneself ragged. And ragged is what they become!
It is not the purpose of this article to discuss the good and bad points of jogging. Far is it for us to invade that arena where many people more qualified than we disagree and even contradict each other. Nor are we disturbed by the fact that joggers cause traffic jams by running in the street and endanger the lives of innocent motorists. No, our concern is with the jogger’s outfit.
Now, tennis players really know how to dress. Women appear on tennis courts in cute little dresses. Men appear in tailored shorts and matching shoes and socks. But joggers! The jogger often comes forth in showy running shoes that match nothing and often only cause the feet to look larger than they really are. The jogger also dons a pair of shorts over a pair of sweat pants, which gives the appearance of a mannequin modeling underwear in a department store window. And the shirt, the crowning glory of the mismatched set, has only avoided the ragbag by pure chance. So, joggers, please dress attractively. Is that asking too much?

11.The tone of this passage is ______
A) educational B) angry C) humorous D) directive
12. The underlined statement “endanger the lives of innocent motorists in paragraph 2 is _______
A) serious B) insulting C) puzzling D) exaggeration

13.The main thing that upsets the author about joggers is their
A)? dressing in unattractive outfits
B)? wearing ragged shirts
C)? causing traffic jams
D)? endangering motorists
14.The author would be happy if joggers at least ______
A) ran quietly B) dressed like tennis players C) slept later D) ran in parks
15.The underlined word “outfit” in paragraph 2 probably means
A) running shoes B) pants C) dresses and shirts D) all of the above

Passage 4
It would be difficult to find someone who is in favor of drunk driving. Similarly no one would jump on the bandwagon urging more child abuse. Some activities are considered repulsive and totally unacceptable to almost everyone. Drunk driving, unlike child abuse, however, is a crime that many Americans not only commit more than once in their lives, but also freely discuss among their friends and fellow workers.
If someone reads about a co-employee or neighbor being arrested for drunk driving, usually little is made of it; many even treat the occurrence in a humorous fashion. Hale and hardy fellows comfort the criminal with their own tales of close encounters with the law. So “better luck next time” is the casual warning of the drunk driver’s comrades. “Next time is so matter-of-factly that everyone knows that these drunk drivers do not realize that “next time” might end in a crippling accident, an innocent bystander’s death, enormous heartache, anguish, and ultimately remorse. But then it’s too late. By then the drunk driver will have done the worst, and all the merriment of the night’s imbibing fades quickly in the presence of grief at the scene of an accident.
Of course, the comrades are shocked, even frightened momentarily. Couldn’t the perpetrator (犯罪者) of one of Americas’ controlled crimes just as easily have been one of them? Maybe someone s next time might be the “last time”.

16.The biggest difference between drunk driving and child abuse is _______
A)one is a serious crime, and the other one is not
B)one crime is treated lightly by many, and the other is not
C)one is tightly controlled, and the other is not
D)one destroys the family unit, and the other does not
17.The main idea of the passage is ______
A)drunk driving is a serious crime treated casually by many
B)a drunk driver can be killed at any moment
C)many Americans are drunk drivers
D)drunk driving is one of America’s least controlled crimes
18. The underlined word “imbibing” refers to the night’s _______.
A)driving B)speeding C)recklessness D)drinking

19.Most of Americans attitude towards drunk driving is ______.
A) critical B) matter—of—fact C) serious D) casual
20.Which of the following is true?
A)Drunk driving is strictly controlled in America.
B)Americans concentrate on the drunk driving issue for a long time.
C)Drunk driving may result in such accidents as death, heartache, anguish, etc.
D)Americans do not think drunk driving is a crime.
Part II: Use of English???(10 points)
21.Salesman: Would you like to renew your subscription to Overseas English?
Customer: OK, I’ll renew it for another year.
Salesman: Excellent!
A. I Promise you won’t regret it! B. You deserve it!
C. You are welcome. D. How dare you do that?
22. President: Do you think we should accept Dave’s marketing proposal?
Manager: I don’t know
A. Who cares? B. What do you think?
C. Yeah. He is a smart guy. D. I’d better sleep on it .
23. Alice: Are you going to check in your bag or take it on the plane?
Athena:
Alice: Then I will too, so we won’t have to wait when we land.
A. Sure, I will have them checked in. B. I have no idea.
C. What about you?
D. Ever since I lost my suitcase in Cairo, I take it on the plane.
24. Tourist: Would you prefer I use a credit card, or pay cash for the goods?
Casher:
A. It doesn’t make any difference. B. How long have you been waiting?
C. The bank closes soon. D. You are welcome.
25. New Staff Member: How far is it to the hotel from the office?
Colleague:
A. You can walk there from here. B. No, it’s downtown.
C. No, it’s closer to the airport. D. Yes, you can.
26. Jack: Tomorrow we are going to eat out.
Ken: Cool. Should we book a table?
Jack:
A. It all depends. B. Who knows?
C. I have reserved a seat on the train. D. At the elevator.
27. Larry: I am going out to have my lunch. Can I bring you back anything to drink?
Lisa:
A. Yes, I do. B. What can I do for you?
C. Something cold will be great. D. You are most welcome.
28. Philip: Have you tried the coffee from the vending machine(自动售货机)?
Kathy:
A. I need sugar. B. No, Michael told me it was horrible.
C. I lent it to someone. D. No, I won’t.
29. David: I’m David Wong. I have a 10: 30 interview with Ms. Chang.
Secretary: David Wong? I moved you to 11:30.
David: 11:30?
A. How dare you do that?
B. Are you crazy?
C. Do you have a telephone I could use?
D. You make a serious mistake, do you know?
30. William:
Manager: What’s the problem?
William: I copied some files to it, and now they don’t show up.
A. Are you free? B. Do you know a lot about computers?
C. What can I do for you? D. Could you help me out?

Part III: Vocabulary and Structure(30 points)
Section A
Directions: In this section there are 20 incomplete sentences. For each sentence there are four choices marked A, B, C and D. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
31. Experiments in the photography of moving objects __________ in both the United States and Europe well before 1990.
A. have been conducting B. Were conducting
C. had been conducted? D. are conducted
32. Diderot was also a philosophical material, __________ that thought developed from the moments and matters of matter.
A. believing B. have been located C. believes D. be locating
33. The population of many American cities has __________ doubled in the past three years.
A. larger than B. more than C. as great as D. as many as
34. A baby might show fear of an unfamiliar adult, __________ he is likely to smile and reach out to another infant.
A. if B. whenever C. so that D. whereas
35. Weather __________, there will be an open air party with live music here this weekend.
A. permits B. should permit C. will permit D. permitting
36. The symbols of mathematics __________ we are most familiar are the signs of addiction, subtraction, multiplication, division and equality.
A. to which B. which C. with which D. in which
37. We are sure that __________ to do this face to face, he would find it difficult to express himself without losing his temper.
A. were he to try B. would he try C. was he tryingD. if he tries
38. __________ he realized it was already too late for us to return home.
A. No sooner it grew dark B. Hardly it grew dark than
C. It was not until dark that D. Scarcely it grew dark than
39. __________ will Mr. Forbes be able to regain control of the company.
A. With hard work B. As regards his hard work
C. Only if he works hard D. Despite his hard work
40. What the teacher of the science class does and says __________ of great importance to the students at college.
A. was B. are C. is B. were
41. ______, I would take an umbrella with me.
A. Had I been you B. were I you C. I were you D. I had been you
42. Had she been given some information, she ______ the question.
A. can answer B.can have answered C. could have answered D.could answer
43. I had hoped that she ______ a doctor, but she wasn’t good enough at science.
A. will become B. became C. would become D. becomes
44. I’d rather you ______ with him.
A. didn’t interfere B. don’t interfere C. should not interfere D. would not interfere
45. The job would require that ______ at seven o’clock every morning.
A. he will be at the factory B. he be at the factory C. he was at the factory D. he has been at the factory
46. The _____ of this problem _____ still not clear to most of us.
A. bases, is B. basis, are C. basis, is D. basises, are
47. Computers are tools carrying _____ for human beings.
A. many information B. many informations C. more information D. much information
48. You can order _____ if you like.
A. two furniture B. two pieces of furniture
C. two piece of furnitures D. two pieces of furnitures
49. The _____ in this schools are mush more active than those from other schools according to a recent research.
A. womanstudent B. womenstudents C. womenstudent D. womanstudents
50. It’s said that the _____ here would never go on strike.
A. postmen B. postsman C. postmans D. postsmen

Section B
Directions: There are 10 blanks in the following passage. For each blank there are four choices marked A, B, C and D. You should choose the ONE answer that best completes the passage. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
Research has shown that excessive noise51people's heating. In fact many young people now suffer from deafness from regularly going to discos where the52of noise is so high that they have to shout to make themselves53Unfortunately，in spite of modem54，noise is very much part of our modem world –– planes flying overhead，traffic thundering along busy roads，television，portable radios，all produce noise55which we have become so accustomed that we hardly56it. In fact people going on country holidays have been known to complain that it is too quiet. They actually miss the noises they are used to in their daily lives. The problem is that noise，though it does not necessarily cause deafness, causes57and this can58the long run prove harmful.59, the decision about more or less noise cannot be left to the scientists alone. It is60?to us to decide what kind of world we want to live in.
51．A．spoils B．damages C．ruins D．destroys
52．A．amount B．rate C．1evel D．standard
53． A．noticed B．known C．heard D．found
54． A．technology B．machinery C．technique D．skill
55． A．for B．to C．in D．at
56． A．imagine B．find C．notice D．sense
57． A．nervousness B．strain C．tension D．stress
58． A．by B．as C．on D．in
59． A．However B．Moreover C．Yet D．Anyway
60．A．owing B．up C．due D．1iable

Part Ⅴ: Writing(20 points)
Directions: For this part, you are allowed 30 minutes to write a composition on the topic “Traffic Jam in Big Cities” You should write at least 80 words and you should base your composition on the outline given below in Chinese. You should also write your composition on the back of the Answer Sheet:

城市交通的现状。

导致城市拥挤的原因。

解决城市交通问题的办法。

 参考答案：
Part I Reading Comprehension(40 points)
1-5:BBDAC 6-10:ADABB 11-15:CDABD 16-20:BADDC

Part II Use of English (10 points)
21.A．此对话中，销售人员和顾客谈论订杂志的事情。顾客答应续订一年的杂志，销售人员非常高兴。A项意为“我保证你不会后悔的。”；B项意为“你罪有应得。”或者“你应得的。”；C项是用来回答“Thank you.”的；D项意为“你怎么敢这么做？”。符合场景的只有A项。
22.D．此对话是回答一项提议。总经理问经理应该不应该接受Dave的营销计划，经理的答复是“我不知道。”。A项“谁管呢，没有人在乎。”显得粗鲁、不礼貌；B项“你怎么认为？”不符合上下级交际的原则；C项“是的，他是个聪明的小伙子。”和对话讨论的话题没有关系；只有D项“我再考虑考虑。”。如果考生不知道Sleep on sth是什么意思此题也可用排除法处理。
23.D．此对话发生在机场登机前。Alice问Athena是托运行李还是行李带到飞机上。从A的回答中我们可以看出。Athena怎么做，Alice也就跟着怎么做了，并且Alice还说降落的时候不用等行李。也就是说她们决定将行李带到飞机上。A项意为“当然了，我要托运行李。”；B项意为“我不知道该怎么做。”；C项意为“你怎么认为呢？”；D项意为“自打我上次在开罗丢了行李包，我都是将行李带到飞机上的。”由此可见，Athena是要将行李带到飞机上的，所以A项是错误的；B项不可能引出A所说的下文，所以也是错误的；C项跟Alice的答复冲突；故D项是正确答案。
24.A．此对话发生在商场里。游客问收银员用信用卡还是现金结账。A项意为“两样均可，没有什么区别。；B项意为“您等了多长时间了？”；C项意为“银行一会儿就关门了。”；D项意为“不用谢。”B项和C项是答非所问；D项说得有点早，顾客还没有说“Thank you.”呢，故A项是正确答案。
25.A．这是办么室里的对话，内容是问到某个建筑物的距离，所以需要提供一个距离的回答。A项“你可以走过去。”是正确答案；不可以用“Yes”或“No”来回答特殊疑问句所提的问题，故B、C和D选项均不正确对待。
26.A．此对话中，两个人在谈论吃饭订座位的问题。Ken提出了一个问题，Jack来回答。C项“我已经在火车上订了一个座。”和D项“在电梯旁边。”都是答非所问；B项“谁知道呢？”显然不能用于回答此类问句。A项是正确答案，意为“那得看情况而不定。”
27.C．此对话中Larry问是否Lisa带点什么喝的东西回来。A项“是的，我愿意。”和B项“我能为你做点什么？”均不符合场景；D项“别客气。”是回答“Thank you.”的；C项“凉点东西最好。”符合该对话场景。
28.B．Philip问Kathy喝没喝过自动贩卖机里的咖啡。因为Kathy现在没有喝咖啡，所以她不会说“我要加点糖。”故A项不对；C项“我把它借给别人了。”与该语境不相符；D项“不，我不会尝试的。”在时间表上与Philip的问句不一致；由此可见，只有B 项“还没有，Michael告诉我那里边的咖啡糟透了。”是正确答案。
29.C．此对话发生在办么室。David告诉秘书他和Ms. Chang有个约会，秘书告诉他，把他推迟到11：30了。David感到惊奇，也有些生气。A项意为“你怎么敢这么做？；B项意为“你疯了吗？”；C项意为“有电话我可以用一下吗？”D项意为“你犯了一个大错，你知不知道？”比较四个选项，C项更符合该语境，可能David要打个电话找一下Ms. Chang告诉她时间的更改。其他三个选项都显得很不礼貌。
30.D．此对话中William向Manager求救。一定要注意说话者之间的关系，William是职员，他正在和Manager说话。通过对话的内容来看，William的电脑现问题了，需要Manger的帮忙。A项“你有空吗？”和B项“你的电脑知识怎么样？”使用的语气太随便了，不符合职员和经理的谈话性质；C项“我能为你干点什么吗？”不是职员对经理说的话，是对顾客说和话。故D项“您能帮我个忙吗？”是正确答案。

Part III Vocabulary and Structure (30 points)
Section A
31-50: cabdd caccc bccab cdbba

Section B
51．[答案]B 本题考查考生对近义词的辨析能力。从语法结构来看，四个选项均为动词都可填人空缺处，但根据语义，spoil意为“搞糟，溺爱”，指损坏、损毁某物或某事的价值或质量，如：Our holidays were spoilt by bad weather. 我们的假期被坏天气给搞糟了。damage意为“损害，破坏，伤害等”，通常指价值、用途的降低或外表的损坏等，但不一定全部损坏，如：The heavy rain damaged many houses. 大雨毁坏了许多房子。destroy意为“破坏，毁坏”，指彻底毁坏以至不能或很难修复，如：That town was destroyed in a big fire. 那个城镇在一场大火中被毁了。ruin现在多用于借喻中，泛指一般的“弄坏了”，如：He knocked over a bottle of ink and ruined the table cloth．他打翻了一瓶墨水把桌布弄脏了。由此不难看出，damage最符合题意，表示过分的噪音会在某种程度上损害人的听觉。
52．[答案]C 本题考查词语搭配。所选的词必须同noise和high相搭配。amount表示数量、数额、总数等，如：a large amounts of money大量的金钱，与本题表示噪音的高度和强度不符合，故排除。rate一般表示速度，如：a steady rate稳定的速度；还可表示比率或等级，如：death rate死亡率；first-rate第一流，因此该词也不恰当。standard一般指“标准，水准”，如：standard of living生活水平，也不符合题意：level除了有“水平”、“程度”等意思外，还可表示(测量的)数量，强度或浓度的相对高低，如：an unsafe level of toxicity危险的毒性度；the level of alcohol in the blood血液中酒精的含量，由此可以看出，level符合本题题意。
53．[答案]C 本题考查make oneself done这一动词+宾语+补语的复合结构。如：make oneself noticed“使别人注意到自己”；make oneself known“让别人知道自己”；make oneself understood"使别人理解自己的意思”；make oneself found“使别人找得到自己”。联系上下文的意思，大声喊的目的是让别人能听清自己说的话，所以C项heard最符合题意。
54．[答案]A 本题考查考生对近义名词的词义辨析能力。推敲上下文得知，本处所缺名词应是“科技”的总称。technology一词可指生产工艺、技术，以及其在工业等方面的应用，是技术的总称，如：science and technology科学和技术。machinery一般指机器、机械的总称，如：The machinery in the factory consists of several different kinds of machines. 工厂里的机械设备包括多种不同的机器。technique技巧，技能，常指处理基本原理的技巧或运用能力，如：They admired the pianist’s perfect technique. 他们赞赏那位钢琴家完美的技巧。skill指技艺，技巧、手工艺或技术，尤指需要使用手或身体的技巧，如：He has great skill in drawing．他画画很有技巧。因此，根据题意，应选择technology，即指生产、工艺的总称。
55．[答案]B 本题考查语法知识。关系代词which引导定语从句，其前缺少介词。be / become accustomed to something / doing something是固定搭配，表示“习惯于……”，如：I am accustomed to humble fare. 我习惯于粗茶淡饭。I’m not accustomed to getting up so early to do morning exercise. 我不习惯这么早起床进行晨练。这里的to为介词，后需接名词或动名词。其他三个介词for、in、at均和accustomed不搭配，故排除。
56．[答案]C 本题考查考生根据上下文选择词义的能力。从上下文来看，本句要表述的是人们对噪音已经很习惯，根本就察觉不到它的存在。考查四个选项的意思，imagine意为“想像，认为”，如：I can’t imagine what he looks like. 我想像不出他是什么长相。find为“发现，发觉”，如：I find Russian grammar very difficult. 我发现俄语语法很难学。notice有“注意到，察觉”的意思，如：And you didn’t notice anything unusual?你觉察到什么异常的事没有?sense意为“感觉，感知”，常指官能赋予人的某种能力，如：He sensed that his proposals were unwelcome. 他觉得他的建议不受欢迎。因此只有notice最符合题意。
57．[答案]D 本题考查考生对近义名词的词义辨析能力。nervousness指内心的紧张或不安；strain一般指做某事过于吃力，或过度劳累而造成的紧张状态；tension一般指精神、情感或神经上的紧张；stress是压力，通常指由外界不利影响而导致的一种精神或感情上压抑或沮丧的状况，能影响身体健康，其特征通常表现为心率加快，血压升高，肌肉紧张，易怒及压抑。根据语义，应选择stress，用以指外界的噪音给人带来的心理压力。
58．[答案]D 本题考查词组搭配。in the long run是固定搭配，意为“从长远来看”，如：It’ll be cheaper in the long run to use real leather. 从长远来看，使用真皮将是比较便宜的。其他三个介词均不能和the long run相搭配，故排除。与此相仿的搭配还有in the short run，意为“从短期来看”、“近期内；不久”，如：Economies like these save money in the short run, but in the end you’ll be no better off. 从短期来看，这样节约会省一些钱，不过最终也不会富裕起来。
59．[答案]A 本题考查考生的逻辑分析能力。根据上下文提示的逻辑关系，上文说到从长远来看，噪音是会对人体造成不利影响的，下文谈到噪音问题不应该单单是科学家的事，我们自己也应该对此问题有所重视。由此可以判断其上下文的关系为转折。anyway意为“无论如何”，是副词，如：He said he didn’t know much about computers but that he’d try and help us anyway. 他说他对计算机懂得不多，但他无论如何还是会尽量帮助我们。moreover也是副词，意为“再者，此外”，表示递进关系，也不符合。yet虽可表示转折关系，但它是连词，一般不用于句首，只用于句中或句末，起连接作用。如：He worked hard, yet he failed. 他工作努力，可是他失败了。however意为“不过，然而”，是副词，表达转折关系，而且可出现在句子的任何位置，包括句首、句中和句尾，如：We have not vet won；however，we shall try again. 我们还没有取胜，不过我们还要再试一下。
60．[答案]B 本题考查固定搭配。be up somebody to do something是习惯用法，意为“取决于”、“由……决定”，最简单的说法如：It is up to you, 你说了算。因此B符合本题题意。其他三个介词虽也可与介词to搭配，但表达的意思各不相同：owing to意为“由于，因为”，如：I couldn’t attend, owing to illness. 我由于生病没出席。due to意为“由于，应归于”，如：Her illness was due to bad food. 她生病是由于吃了变质的食物。liable to 意为“易于……的，不可免的”，如：A baby is liable to diseases. 婴儿易患疾病。

Part IV Writing (20 Points)
Directions: For this part, you are allowed 30 minutes to write a composition on the topic “Traffic jam in Big Cities ” You should write at least 100 words and you should base your composition on the outline given below in Chinese. You should also write your composition on the back of the Answer Sheet:

城市交通的现状。

导致城市拥挤的原因。

解决城市交通问题的办法。

Traffic Jam in Big Cities
Traffic jam has become a very serious problem in big cities. Cars and buses are crowded on the street and inched slowly forward. More and more people are complaining about the inconvenience caused by the traffic jam, especially during the rush hours. It takes more time to go to work today than it used to.
The traffic jam problems resulted from many reasons. First, the economic developments have been overstressed to the degree that one fact that roads are very narrow and space is limited had been overlooked. Second, the standard of transportation management didn’t catch up with the increasing number of the cars and buses. Thirdly, the relationship between overpopulation and the development of cars has not been well thought out.

We must find out ways to solve the traffic problem before it slows down the economic development. First of all, the improvement of the administration of transportation should be taken into consideration. Secondly, roads should be widened and more city loops should be built. Thirdly cars should take turns to run on the street while taking public buses should be encouraged. With the development of economy and management, we will have a smooth and efficient traffic take us to and from our work and in and out of out city

大学英语B模拟七
Part I: Reading Comprehension(40 points)
Directions:There are four passages in this part. Each passage is followed by five questions. For each question there are four choices marked A, B, C and D. You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.
Passage 1

Albert Einstein had a great effect on science and history, greater than only a few other men have achieved. An American university president once commented that Einstein had created a new outlook, a new view of the universe. It may be some time before the average mind understands fully the identity of time and space and so on — but even ordinary men understand now that the universe is something larger that ever thought before.
By 1914 the young Einstein had gained world fame. He accepted the offer to become a professor at the Prussian Academy of Science in Berlin. He had few duties, little teaching and unlimited opportunities for study, but soon his peace and quiet were broken by the First World War.
Einstein hated violence. The misery of war affected him deeply, and he sat unhappily in his office doing little. He lost interest in his research. Only when peace came in 1918 was he able to go back to work.
In the years following World War I honours were increasingly heaped on him. He became the head of the Kaiser Whihem Institute of Theoretical physics. In 1921 he won the Nobel Prize, and he was honored in Germany until the rise of Nazism when he was driven from Germany because he was a Jew.
1.The main idea of the first paragraph is ______.
a.the time when people know Einstein
b.the feeling of an American college president
c.the change in human thought produced by Einstein
d.the difficulty of Einstein’s thought to teachers
2.According to the American university president, ______.
a.everyone understand Einstein’s theory today
b.Einstein achieved more than any other scientists in history
c.the theory of relativity can be quickly learned by everyone
d.our ideas about the universe are different today because of Einstein
3.According to paragraph 2, Albert Einstein ______.
a.was a famous chemist b. headed a research institute
c.was famous in the world d. enjoyed reading about war
4.According to the passage Einstein did his greatest work ______.
a. during World War I b. when Nazism rose c. when he was young d. between 1906—1915
5.It may be concluded that ______.
a.Albert Einstein was forced to serve in the German army
b.Albert Einstein had no other interests besides science
c.Germans usually have a high respect for science
d.his reputation was ruined because of his work during World War I

Passage 2

In order to be one’s true self, it is necessary to obtain a side and extensive knowledge of what has been said and done in the world; critically to inquire into it; carefully to consider it; clearly to analyze it; and earnestly to carry it out.
It matters not what you learn, but when you once learn a thing, you must never give it up until you have mastered it. It matters not what you inquire into, but when you once inquire into a thing, you must never give it up until you have thoroughly understood it. It matters not what you try to think of, but when you once try to think of a thing, you must never give it up until you have got what you want. It matters not what you try to carry out, but when you once try to carry out a thing, you must every give it up until you have done it thoroughly and well.
If another man succeeds by one effort, you will use a hundred efforts. If another man succeeds by ten efforts, you will use a thousand.
6.According to the author, first of all one must ______.
a. obtain knowledge b. inquire c. analyze d. act
7.?? According to the author, _____.
a. learning is unimportant b. thinking is of the least importance
c. knowledge is unnecessary d. it doesn’t matter what you learn
8.?? The end of learning should be ______.
a. thought b. inquire c. mastery d. analysis
9.?? According to the author, another man’s success should ______.
a. spur us on to greater efforts b. not be taken into consideration
c. make us nervous d. cause one to stop trying
10. Which of the following is implied but not stated? ______.
a. It is necessary to obtain a wide knowledge of what has been said and done in the world.
b. The way to knowledge is through specialization.
c. Success depends not so much on natural ability as it does on effort.
d. Success in one’s profession is least important in one’s life.
Greece today is a small country in southeastern Europe. The population is a approximately nine million, and the capital city is Athens.
Passage 3
High mountains with rich, fertile land between them cover northern Greece. The hilly southern part is a peninsula called the Pelopnnesus. Hundreds of islands surround the mainland. The largest island is Grete.
No part of the nations is far from water. The Ionian Sea and the Aegean Sea carved deep bays and gulfs into the long coastline. Greece has been a seafaring nation for centuries, and Greece is very well known for its shipping industry.
More than three thousand years ago, the Greek people developed a very sophisticated society. They have a great civilization, one of the greatest that the Western would has ever seen. Greek architecture, thinking, and art influenced other civilizations. Even the Greek language influenced other languages, including English. For example, the English words alphabet, democracy, and arithmetic come from Greek.
Today Greece is one of the most popular nations with the tourists who visit Europe. Thousands of people are attracted to the country because of its beautiful scenery, magnificent ancient buildings, and its excellent summer weather.
11. A good title for this reading passage is _________.
a. The Earliest Civilization
b. The Influence of the Sea on Greece
c. The Small but Important Nation of Greece
d. The Ionian Sea
12. The word carvedin Line 7 means _________.
a. cut, made b. said, told c. lost, wasted d. attracted
13. We may conclude that most of the food is grown in the _________.
a. north b. east c. south d. west
14. Hills can be found _________.
a.in the southern part b.on the Peloponnesus c.both a and b d.in the Aegean Sea
15. The Greeks had a great civilizations around _________.
a. 5000 B. C. b. 3000 B. C. c. 1000 B. C. d. 2000 B. C

Passage 4

Dr. Harvey Gates, the noted scientist, might never has discovered the Kamron Lizard（变色龙）in Blovia, if it had not been for a childhood accident. When he was young he was determined to become a baseball player, but when he broke his arm in practice at the age of fourteen and was forced to stay off the playing field for a while, he took notice of the natural world around hi and liked what he saw.
After the plaster has been taken off his arm, he caught a squirrel and raised it as a pet. Soon he was bringing home snakes and other creatures from the woods near his school.
In 1962, he entered Blakeford College and majored in biology. By 1966 he had received his Bachelor (学士) Science degree and two years later at Drysdale University, he received his Doctor of Science degree.
It was while he was doing field research for his doctoral dissertation (论文)in South America in 1967 that he discovered and named the Kamron Lizard. This cold-blooded animal was distinguished from others of its kind by the fact that it had only four toes on its front feet. In other aspects, it was similar to others of the same family. It could change its color and go for long periods without food.
Dr. Gates received his appointment as a professor at the University of Huntsford in 1970.
16. Before breaking his arm, Dr. Gates _________.
a. had little interest in biology b.began to lost interest in biology
c. enjoyed both baseball and biology d.had a growing interest in biology
17. Dr. Gates received _________.
a. his first degree in 1962 b. his second degree in 1966
c. his highest degree in 1968 d. his doctor’s degree in 1970
18. Dr. Gates discovered the Kamron Lizard _________.
a. just after he received his doctor’s degree
b. while he was preparing his doctoral dissertation
c. at the time he was studying at Blackeford College
d. after he graduated from Drysdale University
19. Which of the following is not true about the Kamron Lizard?
a. It possesses four toes on its front feet. b. It can live a long while without eating..
c. It may go for weeks without drinking. d. It is capable of altering its color.
20. The main idea of the passage is that _________.
a. Dr. Gates was determined to become a baseball player
b. An accident changed the life of Dr. Gates
c. Dr. Gates like biology better
d. Dr. Gates was a diligent student during his studies at university
Part II: Use of English???(10 points)
21. Lily: Can I put some of my things in your office overnight?
Wendy:
Lily: That would be great. They are painting the walls in my office.
A. Sure, you are always the best. B. Sure, my pleasure.
C. No, I will have a day off tomorrow. D. No, not at all.
22. Adam: Did you just hear the traffic news?
Apple: Yes, they said there was an accident on the expressway.
Adam:
A. Small world! B. Good news.
C. It deserves it. D. We’d better get off from next exit?
23. Jamie: Could I borrow your truck this weekend?
Beau: Sure.
Jamie: I’m giving my sister my old couch, but it’s not worth paying someone to move it.
A. You can use anytime you want.
B. But you have to pay me something back.
C. What do you need it for? D. Where are you going?
24. Jack: I am going to buy some popcorn(玉米花). What can I get for you?
Lily: Any kind of candy,
Jack: I will be right back.
A. Should I offer some money? B. What can I do to pay you back?
C. Where are you going? D. But hurry up, or you’ll miss the show.
25. Student A: When did the Tang Dynasty end?
Student B: Umm …I am sorry. Would you mind telling me the answer?
A. You are something! B. You can’t imagine!
C. You are welcome! D. You got me!
26. Janet: Do the vending machines have only soda? I’m in the mood for apple juice.
Lisa:
Janet: It’s hot outside. I’ll just have some water.
A. Of course, they have almost everything you can name.?
B. Sorry, I have no idea.
C. You’d better have a try by yourself. I never used these machines.
D. You’d probably have to go to the store if you want some fruit stuff.
27. Wilson: Do you know any language tutors?
Janet:
A. I know three languages.????????????? ?????B. Twenty dollars an hour.
C. My sister recommends her former teacher.???? D. No problem.
28. Waiter:
Bob: I see the special of the day is salmon（大马哈鱼）. How is it cooked?
Waiter: It’s fried in a little oil with a lemon and garlic sauce（蒜汁）.
A. Are you ready to order? B. What can I do for you?
C. Welcome to our hotel. D. Can you sign your name here?
29. Charles: I saw Mr. Kennedy walking with a cane（拐杖）.
Della:
Charles: I heard he fell while walking his dog（遛狗）.
A. What is funny with him? B. What a pity!
C. What happened? D. Where is his dog?
30. Hairdresser: What kind of permanent（烫发） would you like to have?
Mary:
Hairdresser: We have regular, cold perm, straight perm, and foam.
Mary: Today, I’ll try a foam perm.
A. Why, can’t you judge? B. What do you suggest?
C. How can I know? D. What do you have?
Part III: Vocabulary and Structure???(30 points)
Section A
Directions: In this section there are 20 incomplete sentences. For each sentence there are four choices marked A, B, C and D. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
31. “Did Harry see professor Carry yesterday?”
“He did, and the professor gave him one of the best _______ I’ve ever heard.”
a. piece of advice b. pieces of advices c. piece of advices d. pieces of advice
32. Before we moved in the new house we bought many _________.
a. furnitures b. furniture c. pieces of furniture d. equipments
33. She did not know _________ he had been given.
a. how many information b. how many informatios
c. how much information d. the number of information
34. _________ do you have?
a. How many luggages b. How many luggage
c. how much luggages d. How many pieces of luggage
35. Mother does all the _________ in our home.
a. homework b. household work c. housework d. houseworks
36. The dentist did not tell me how many _________ I should pay for pulling out the tooth.
a. money b. dollars c. funds d. monies
37. Ten years had passed. I found she had _________.
a. a little white hair b. some white hair
c. much white hair d. a few white hairs
38. _________ are a hard working race.
a. Chinese b. A Chinese C. The Chineses d. The Chinese
39. We saw a lot of _________.
a. cow and sheep b. cows and sheeps
c. cow and sheep d. cows and sheep
40. His cattle are feeding near the forest.
a. grassland b. village c. lake d. woodland
41. No, he’s not married; he’s a bachelor.
a. badger b. merchant c. single man d. burglar
42. They met to consider the drawbacks in the proposal.
a. misgivings b. shortcomings c. probilites d. details
43. Many doctors are still general practitioners. But the tendency is toward specialization in medicine.
a. esteem b. trend c. prelude d. tyre
44. The thief was apprehended, but the person who aided him escaped.
a. arrogance b. avarice c. accomplice d. asset
45. They reported the loss and gave all the necessary particulars to the police.
a. details b. happenings c. qualifications d. characteristics
46. There is no alternative: the President must approve the bill if Congress passes it.
a. chance of agreement b. help c. other choice d. mistake
47. The committee has met and _________.
a. they have reached a decision b. it has formulated themselves some opinions
c. its decision was reached at d. it has reached a decision
48. John Fairbanks is _________ on Chinese history.
a. one of American foremost authorities b.one American foremost of authorities
c. one of American’s foremost authorities d.one of America’s foremost authorities
49. Do you know that _________ missing?
a. one or perhaps more children from the neighbourhood has been reported
b. one of perhaps more children form the neighbourhood have been reported
c. one or perhaps more child from the neighbourhood has been reported
d. one or perhaps more child from the neighbourhood have been reported
50. Do you know a _________ shop around here?
a. barbar b. barber c. berbar d. berber

Section B
Directions: There are 10 blanks in the following passage. For each blank there are four choices marked A, B, C and D. You should choose the ONE answer that best completes the passage. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
Industrial safety does not just happen. Companies51low accident rates plan their safety programs，work hard to organize them，and continue working to keep them52and active. When the work is well done，a 53?of accident-free operations is established54time lost due to injuries is kept at a minimum.
Successful safety programs may55?greatly in the emphasis placed on certain aspects of the program. Some place great emphasis on mechanical guarding. Others stress safe work practices by56rules or regulations57?others depend on an emotional appeal to the worker. But, there are certain basic ideas that must be used in every program if maximum results are to be obtained.
There can be no question about the value of a safety program. From a financial standpoint alone, safety58The fewer the injury59, the better the workman’s insurance rate. This may mean the difference between operating at60or at a loss.
51． A．a B．in C．On D．with
52． A．alive B．vivid C．mobile D．diverse
53． A．regulation B．climate C．circumstance D．requirement
54． A．where B．how C．what D．unless
55． A．alter B．differ C．shift D．distinguish
56． A．constituting B．aggravating C．observing D．justifying
57． A．Some B．Many C，Even D．Still
58． A．comes off B．turns up C．pays off D．holds up
59． A．claims B．reports C．declarations D．proclamations
60．A．an advantage B．a benefit C．an interest D．a profit

Part Ⅴ: Writing(20 points)
Directions: For this part, you are allowed 30 minutes to write a composition on the topic “The Importance of the Reform and Open Policy” You should write at least 80 words and you should base your composition on the outline given below in Chinese. You should also write your composition on the back of theAnswer Sheet:

The Importance of the Reform and Open Policy
1. 实行改革开放政策的必要性。
2. 实行改革开放政策以来取得的成就。
3. 实行改革开放政策的前景

参考答案：
Part I Reading Comprehension(40 points)
1.c 2.d 3.b 4.b 5.c 6.a 7.d 8.c 9.a 10. c
11.c 12.a13.a 14.c 15.c 16.a 17.c 18.b 19.c. 20.b
Part II Use of English (10 points)
21.B．Lily问Wendy她可否将她的东西放在Wendy的办公室里一个晚上。因为她办公室的墙正在粉刷。A项意为“当然了，你总是最好的。”；C项意为“不，明天我要休班。”D项意为“不，一点都不。”。从Lily的回答来看，Wendy是同意她的请求的，所以C项是错误的；A项和谈论的话题无关，也要排除；D项是回答“Would you mind…？”这类问句的用语，故正确答案是B项，表示愿意帮忙。
22.D．此对话谈论交通问题，说高速公路上了车祸。A项“世界太小了！”用于偶遇时；B项“好消息。”不合常理，出了车祸谁都不能不愿意看到；C项“活该！”显得非常幸灾乐祸而且极端粗俗恶毒；故D项“我们最好在下一个出口下高速。”是正确答案。
23.C．Jamie向Beau借卡车。Beau痛快的答应了。A项意为“你随时可以用。”；B项意为“但是你得给我一定的补偿。”；C项意为“你用它来干什么？”；D项意为“你要去哪里？”如果选项A的话，Jamie应该说“Thank you. ”；B项不符合朋友间交际的原则；D项需要Jamie的回答是关于地点；故C项“我打算把我的旧沙发给我的妹妹，可以是不值得花钱请人运它。”是正确答案。
24.D．Jack要给Lily带点吃的，Lily需要些甜点，从Jack的回答我们可以看出Lily叫Jack快点回来，因为Jack的回答是“我马上回来。”A项的意为“我应该给你点钱吗？”；B项意为“我做点什么才能还你的人情？”；C项意为“你去哪里？”；D项意为“快点回来，否则你要错过演出了。”结合J的回答，我们可以推断出正确答案是D项。
25.D．此对话中两个学生在讨论历史问题，A问B唐朝什么时候结束的。通过分析B的回答我们可以看出，B不知道答案A项“你真了不起！”是夸奖对方的；B项“你肯定想象不到！”用于告诉对方一个奇闻；C项意为“不客气！”用于回答“Thank you .”；因为B要求A告诉他答案，因此B肯定不知道这个历史问题的答案，故正确答案是D项“你难住我了！”
26.D．Janet和Lisa在谈论自动贩卖机里有，没有果汁可买，因为她喝够了苏打水了。“be in the mood for”意为“想要什么”。从Janet的回答中我们可以看出她喝点水就行了，因为外面太热，她不想出去。这证明自动贩卖机里没有果汁可买。A项意为“当然了，你想要什么就有什么。”B项意为“对不起，我不知道。”；C项意为“你最好自己试一下，我从来没有用过。”；D项意为“如果你要果汁的话，最好到外面的小店去。”。Janet的回答“外面太热，我还是喝点水吧。”决定了D项是正确答案。
27.C．在这个对话中，Wilson需要一个语言家教。A项“我懂三门语言。”是关于语言的，不是关于教语言的家教；B项“二十美元一个小时。”说的是价钱，跟Wilson的问题没有关系；D项“没有有问题。”用来回答一个要求，但是上文中没有要求的出现；故C项“我姐姐推荐她原来的老师。”是正确答案。
28.A．此对话是在饭店点餐。“The special for today”意为“今天的特色菜”。从客人的回答中可以看出A项“您可以点菜了吗？”符合场景，是正确答案；在饭店就餐，对B项“我能为你做点什么？”的回答应该是“I’d like to order.”；C项意为“欢迎来我们饭店！”也不适合上下文；还没有开始吃饭，当然就不能签名了，故D项“你可以在这儿签名吗？”也是错误的。
29.C．此对话中两个人在谈论Mr. Kennedy。Charles看到他用拐杖。A项意为“他有什么好玩的？”；B项意为“多可惜啊！”；C项意为“发生什么事了？”D项意为“他的狗在哪里？”。从下文我们可以看出，Charles解释Mr. Kennedy用拐杖的原因是狗的时候摔倒了，由此可见Della肯定问了Charles Mr .Kennedy发生了什么事情，故C是正确答案。
30.D．此对话发生在理发店。美发师询问Mary要烫什么样的发型，Mary说要试一下泡沫烫。从美发师的回答中我们可以看出，他们这里有很多的选择，Mary肯定是询问他们有什么样的烫发方式。A项“怎么了，你自己不能判断吗？”太粗鲁，故不能选；B项“你有什么建议？”下文回答不符；C项“我怎么能知道？”也不礼貌；D项“你们有什么样的烫发方式？”最符合题意，是正确答案。Permanent在美语中意为“烫发”，常缩写成“Perm”
Part III Vocabulary and Structure (30 points)
Section A
31.d 32.c 33.c 34.d 35.c 36.b 37.d? 38.d 39.d 40.d
41.c 42.b 43.b 44.c 45.a 46.c 47.d 48.d 49.a 50.b

Section B
51．[答案]D本题考查介词短语的搭配。文中给出的名词是rate，能和它搭配的介词有at和with，in和on均不能和rate搭配，故首先被排除。at… rate的意思是“以……的速度”、“以……的比率”，如：walk at the rate of 4 kilometers an hour以时速4公里的速度步行：at the rate of 2 percent以2％的比率。但是，at… rate介词短语只用作状语，用在本句不合适，因为被修饰的成分是名词而非动词。with这一介词意为“具有”、“带有”，代人句中为：Company with low accident rates... ，意为“具有低事故率的公司……”，这与上下文吻合，因此选with。
52．[答案]A本题考查keep them后接形容词的结构。由keep them active可以判断所选项应是一个与active在语义、语气上相近的并列词，而且必须是表语性形容词，用来做动词keep的宾语补足语。由此，以a—开头的表语性形容词alive为首选。其他以a开头的常用作表语性形容词的还有：afraid，alone，asleep，awake，aware等。vivid"生动的”、mobile“可移动的”只可作前置定语，不能作表语，如：vivid description生动的描述；a mobile loudspeaker流动广播宣传车。可作表语的diverse意为“多样的，不同的”，如：diverse interests不同的兴趣，显然该词在意思上又不符合文意。此外，alive和active并列使用，能形成修辞上的效果，这种修辞方法称为“押头韵”。所谓“押头韵”是指一连串并列使用的词语的第一个音或第一个字母重复相同，使词语读来流畅、上口、押韵。如：safe and sound平安无恙；from teenager to a tycoon从一个十几岁的孩子变成一个工商界的巨头。
53．[答案]B本题考查考生根据上下文选择词义的能力。考虑本题的关键是所需选项不但能和前面出现的不定冠词a连用，而且，还能和后面出现的动词establish在意义上构成动宾关系。regulation意为“规章制度”，通常以复数形式出现，如：The rules and regulations should be made to be manifest to all staff. 规章制度应该让全体员工都明白。当意为“管理”时为不可数名词，如：the regulation of affairs事务管理。该词在文中不论从语义还是搭配方面都不符合。circumstance"情况、境况”和requirement"要求、需求”不能与establish在意义上构成动宾关系，所以均不可选。而establish a climate of… 一正是我们通常说的“建立起/形成了一种……的风气”的意思，符合本题意，故climate是正确答案。
54．[答案]A本题考查语法知识。本句谈到如果此项工作做得好的话，就会形成一种无事故作业的风气，在这种风气里因工伤事故所造成的时间损失就会被控制在最低限度。关系副词where引导一个定语从句，在从句中作状语，修饰climate。因此A项为正确答案。而how“如何”、what"什么”和unless“除非”都不能引导定语从句，故不可选。
55．[答案]B本题考查考生对近义动词的词义辨析能力。通过对上下文的观察发现，所需选项应是不及物动词并且它的搭配介词是in。四个选项中只有differ符合上述条件，同时，下文的信息也证实了此处选择differ的正确性，因为，文章下面的内容分别说明了不同的侧重点。differ的这一搭配用法如：She differs from me in many ways. 她在许多方面都和我不一样。alter意为“改变，变更”，一般为及物动词，不能和in搭配使用，如：These clothes are too large; they must be altered. 这些衣服太大，得改改。shift意为“移动，更易”，常和to搭配，如：The wind shifted to the north. 风转向北吹。distinguish意为“区别，区分”，常与between、from连用，如：Can you distinguish between those two objects?你能区分那两个物体吗?Speech distinguishes man from the animals. 言语使人区别于动物。由此可见，这三个动词都不符合题意。
56．[答案]C 本题考查考生根据上下文选择词义的能力。首先明确所需选项的宾语是rules or regulations(条例或规章制度)，因此，此处的动词必须和其相搭配；其次，通过对上下文意思的推敲，此动词的意思应该是“遵守”，即“通过遵守条例或规章制度来达到无事故作业的目的”。observe意为“遵守”，如：observe a rule遵守规则，该词填在空白处，语义正确，故为正确答案。constitute意为“设立(机构)，制定(制度)”，如：constitute new traffic regulations制定新交通规则。aggravate意为“加剧；使恶化”，如：Grief aggravated her illness. 痛苦加重了她的病情。justify意为, “证明……有道理”，如：The course of events fully justifies our views. 事情的发展充分证明我们的意见是正确的。这三个词均不符合题意。
57．[答案]D 本题考查考生对篇章结构的把握能力。该段开始提到．．．may differ greatly in... (在……方面有很大的差别)，接下来就用了三个排比句举例说明都在哪些方面有差别。三句的主语分别是：Some… ; Others… ; … others(一些……，另一些……，还有一些……)。比较三个选项，只有still(还有)符合题意。many和much均不能用在这样的结构中；even意为“甚至，更”，如：Even now it is not too late. 就是现在也不太迟。It’s even colder than yesterday. 今天比昨天更冷。显然该词也不符合题意，且不能用于这样的搭配。因此，只能选still。still常用在一些排比句中，如：some… ,others… , still others… , yet others… (一些……，另一些……，还有一些……，再有一些……)；one… , another… , still another… , yet another…(一个……，另一个……，还有一个……，再有一个……)。
58．[答案]C 本题考查考生对短语动词的掌握。come off意为“发生，实现”，如：The trip came off on schedule. 旅行如期进行。turn叩意为“找到；出现”，如：She turned up the missing papers under her blower. 她在记事本下找到了丢失的文件。Several old friends turned up at the reunion. 好几个老朋友参加了聚会。pay off意为“带来利益”，如：a bet that paid off poorly没有多大回报的赌注。hold up意为“提出(作榜样)”，如：His son was held up as a model of hard work. 他的儿子被推举为勤奋工作的榜样。综上，只有pay off符合题意，说明安全作业是有回报的。
59．[答案]A 本题考查比较级的特殊结构。the more… , the more… 意为“越……，越……”，如：The sooner, the better.越早越好。通过对本句的分析得知，该句前后分句的结构形式为：形容词+名词，省略动词。由此可知，本处要填人的选项是名词，而且还要和前面的injury相搭配。claim意为“要求(权利；主张；索赔)”，如：They made a claim for higher pay. 他提出更高报酬的要求。claim和injury搭配后，意为“工伤索赔”，符合题意，故为正确答案。report意为“报告，报导”，如：The newspaper report was on the front page. 报纸的报导在头版。该词虽然可以和injury搭配，但与题意不符。declaration意为“声明”，如：joint declaration联合声明，与injury语义上不搭配。proclamation意为“宣布”，如：the country’s proclamation of independence该国的独立宣言，在语义上也和injury不搭配。
60．[答案]D 本题考查考生对近义名词的词义辨析能力。通过分析该句得到下面的线索：该选项需能和at搭配，而且它和loss(亏损)在语义上形成对立。profit意为“利润”，如：This new invention will bring you great profits like a goldmine. 这项新发明会像一座金矿一样给你们带来大量的利润。profit经常和at搭配构成短语at a profit(盈利)，如：He sold it at a good profit. 他以高额的利润把它卖掉。由此可见，profit不论从语义上(指利润)还是从搭配上(与at搭配)都是最佳选择。advantage意为“利益；便利”，如：Is there any advantage in getting there early?早到那里有何好处?benefit意为“利益；好处”，如：it is said Yoga is of great benefit to human health. 据说瑜咖功对人体健康有极大好处。interest意为“利益”，如：The interests of the individual must be subordinated to the interests of the collective. 个人利益必须服从集体利益。这三个词 均不含有“利润”的意思，故排除。

Part IV Writing (20 Points)
Directions: For this part, you are allowed 30 minutes to write a composition on the topic “The Importance of the Reform and Open Policy ” You should write at least 80 words and you should base your composition on the outline given below in Chinese. You should also write your composition on the back of the Answer Sheet:

The Importance of the Reform and Open Policy

Today we are carrying out the reform and open policy. It is because the most important task today is to develop the national economy and improve the people’s living standard. In order to realize the goal, we should reform the old economic system so that we can liberate the productive force. We should also open our door to the world so that we can learn advanced science and technology from the developed countries.
Great changes have taken place since 1978 when the Party and the government began to adopt the reform and open policy. Our national economy has been developed rapidly. For example, our industrial production has doubled in the last ten years. Our people’s living standard has been improved considerably. The average income of the people has increased from less than $200 in 1978 to about $400 today.

Our Party has clearly announced that the reform and open policy will never be changed. As long as we adhere to this correct policy, we can certainly make greater achievements and build our motherland into a powerful socialist country

大学英语B模拟七
Part I: Reading Comprehension(40 points)
Directions:There are four passages in this part. Each passage is followed by five questions. For each question there are four choices marked A, B, C and D. You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.
Passage 1

On July 1, 1859, four men, started on a trip by balloon from St. Louis to New York. At 7: 30, in the presence of thousands of spectators, the cords that kept balloon earthbound were cut, and with considerable speed it went up to the height of two miles. Taking an easterly direction, it passed, in the course of the night and much of the next day, over Lake Erie and Niagara Falls. As it neared Lake Ontario the balloon met a windstorm, lost its rising power, and rapidly sank toward the water. The provisions and some of the passengers’ clothing were thrown away. The balloon finally reached the shore, having traveled for 50 miles, just above the surface of the water. Here they were dragged over trees, hills and rocks, their lives endangered every moment. No one of them over expected to reach the ground alive.
The whole distance traveled was 1,200 miles, and the time taken to cover the journey was 19 hours, averaging a mile a minute.
One of the passengers, a Mr. Wise, is perfectly satisfied with the success of the experiment, and believes that the Atlantic Ocean can be crossed by balloon. It is his hope to attempt such a voyage to England in the near future. Should he do so there are few persons confident enough to believe he will succeed in his adventure.
1.How many people came to see the balloon rising?
a.1,000 b. less than 1,000 c.more than 1,000 but less than 2,000 d.at least 2,000
2.When the cords were cut, the balloon ________.
a. went up slowly b. went up rapidly c. went down to the ground d. did not move
3.In the windstorm, the balloon sand toward ________.
a. Lake Ontario b. Lake Eric c. Niagara Falls d. the Atlantic Ocean
4.During the trip, the balloon averaged ________.
a.1,200 miles a day b. 90 miles an hour c.50 miles an hour d. 60 miles an hour
5.How many people believed Mr. Wise would have a successful trip across the Atlantic?
a. many b. quite a few c. not many d. a considerable number

?Passage 2

The appearance in Glasgow of the largest yearly exhibition of children’s books in Britain will give a wonderful opportunity for Scottish people to see and buy the latest books for children as well as old favorites, both hardback and paperback. The age-range covered will stretch from wordless picture books for the youngest to almost-adult novels.
In its early years, the Children’s Book Show was intended for specialist visitors, mainly teachers and librarians. As it became more widely known and successful, however, family and school parties began to come in ever-increasing numbers, so that it grew into a real children’s book show, and a show with a double purpose. For years it was held in various halls in London, outgrowing each of them in turn until, in answer to enthusiastic invitation to bring it to different parts of the country, the decision was taken to move outside the capital, despite the difficulties that would result. One year it was held in Leeds, then in Bristol as well as in London, and now it comes to Glasgow.
The great success of this novel to bring the show to cities many miles from London, where of course most book publishers are, has been largely due to the support given to the organizing committee by local booksellers, librarians, teachers, parents and others. This year’s show will again interest both the general public and specialists. Admissions will be free, but school parties must be booked for in advance. In a large near the entrance there will be a self-service book shop where every book on show will be for sale.
6.The books in the exhibition are intended for _________.
a. children who cannot speak b. teenagers only c. Scottish children only d. children of all ages
7.The show was originally designed to attract people who _________.
a. knew something about children’s books b. had plenty of money
c. sold children’s books d. had special tastes
8.With its success there was a growth in the _________.
a. size of the exhibitions b. size of the books on display
c. sold children’s books d. had special tastes
9.Much of its success in the provinces has been the result of activity by _________.
a. the local people interested in it b. children c. publishers d. the general public
10. This year parties of schoolchildren must _________.
a. pay for their tickets b. buy their books there
c. have their visits arranged in good time d. help themselves to books

Passage 3
American cities are similar to other cities around the world. In every country, cities reflect the values of the culture. Cities contain the very best aspects of a society; opportunities for education, employment, and entertainment. They also contain the very worst parts of a society: violent crime, racial conflict, and poverty. American cities are changing, just as American society is changing.
After world War I, city residents became wealthier, more prosperous. They had more children. They needed more space. They moved out of their apartments in the city to buy their own homes. They bought houses in the suburbs, areas near a city where people live. These are areas without many offices or factories. During the 1950s the American “dream” was to have a house in the suburbs.
Now thing are changing. The children of the people who left the cities in 1950s are now adults. They, unlike their parents, want to live in the cities. Many young professionals, doctors, lawyers, and executives, are moving back into the city. Many are single; others are married, but often without children. They prefer the city to the suburbs because their jobs are there; they are afraid of the fuel shortage; or they just enjoy the excitement and opportunities which the city offers. A new class is moving into the city—a wealthier, more mobile class.
Only a few years ago, people thought the older American cities were dying. Some city residents now see a bright, new future. Others see only problems and conflicts. One thing is sure: Many dying cities are alive again.
11. Paragraph 1 _________.
a. explains why American cities are changing
b. shows that American cities have many problems
c. is a description of cities
d. says: American cities contain the very best aspects of a society
12. In the 1950s the American “dream” was _________.
a. to have a color TV set b.to buy an apartment in the city
c. to have a big car d.to buy a new house in the suburbs
13. In paragraph 3, the author gives _________ reasons why people want to live in cities.
a. two b. four c. three d. five
14. According to the article, cities are _________.
a. sick b. living c. alive again d. dying
15. The movement of people to and from the city can explain _________.
a. social changes b. racial conflict
c. violent crime d. the best aspects of a society

Passage 4

An election year is one in which all four numbers are evenly divisible by four (1944, 1948, etc.). Since 1840, American presidents elected in years ending in zero have been destined to die in office. William H. Harrison, the man who served the shortest term, died of pneumonia several weeks after his inauguration.
Abraham Lincoln was one of the four presidents who were assassinated. He was elected in 1860, and his untimely death came just five years later.
James A. Garfield, a former Union Army general from Ohio, was shot during his first year in office (1881), William Mckinley, another Ohioan, attended the Pan-American Exposition at Buffalo, New York. During the reception, he was assassinated while shaking hands with some of the guests.
Three years after election in 1920, Warren G. Harding died in office Although it was never proved, many believe he was poisoned.
Fanklin D. Roosevelt had been elected four times (1932, 1936, 1940, and 1944), the only man to serve so long a term. He had contracted polio in 1920 and died of the illness in 1945.
John F. Kennedy, the last of the line, was assassinated in 1963, only three years after his election.
16. Which of the following was not an election year?
a.1960 b. 1930 c.1888 d.1844
17. Which president served the shortest term in office?
a. Abraham Lincoln b.Warren G.Harding c. William mckinley d.William H. Harrison
18. Which of the following is true?
a. All presidents elected in years ending in zero have died in office.
b. Only presidents from Ohio have died in office.
c. Franklin D. Roosevelt completed four terms as president.
d. Four American presidents have been assassinated.
19. How many presidents elected in years ending in zero since 1840 have died in office?
a.7 b.5 c.4 d.3
20. Which of the following was not assassinated?
a. John F. Kennedy b. Franklin D. Roosevelt c. Abraham Lincoln d. James A. Garfield.

Part II: Use of English???(10 points)
21. Customer: __________
Hotel Receptionist: Yes, we have a nice room on the fourth floor.
Customer: How much is it?
Hotel Receptionist: $45.00 a night, plus tax.
A. Do you have any vacancies?
B. Can I have a look of your rooms?
C. How much does it cost us to stay one night
D. We want a bed room on the third floor.
22. Marvin: __________
Nick: I sometimes visit my family.
A. Where did you go last week B.How is your holiday to Hong Kong?
C. Why do you come back? D.How do you spend your Sundays?
23. Leo: __________
Mary: Try the salon in the mall.
A. Can you tell me a good place for a haircut?
B. How can I get my hair cut?
C. What kind of hairstyle should I wear?
D. I like your new hair style.
24. Melissa: How can I ever thank you?
Mary: __________
A. Don’t worry about it. B. It’s welcome.
C. Thanks, but no thanks. D. You’re welcome.
25. Customer: Hello. I’m trying to reach Karen Michaels in customer service.
Clerk: __________
Customer: Oops. You’re right. Can you connect me, please?
A. Okay, hold on for a minute.
B. Who is this speaking?
C. Sorry, she is out. Can I take a message for her?
D. Oh, you must mean Michael Kareen.
26. Tourist: Excuse me. How far is it to the railway station?
Local resident: __________
A. I’m afraid you are going the wrong direction.
B. Just 5 minutes’walk. You can go straight and turn left at the first traffic lights.
C. There is one on the end of the road.
D. You can go there anytime you want.
27. Ken: It seems to be clearing up.
Kevin: That’ll be a nice change, won’t it?
Ken: Yes. But I hear it’s going to turn colder soon.
Kevin: Oh, no! __________
A. I like colder weather. B. Not again.
C. I prefer rainy days. D. Good news.
28. Jason: Look, why don’t we go for a walk?
Casey: __________ It’s late and I have a test tomorrow.
A. Okay, good idea. B. Where to go?
C. I’d love go. D. I’m sorry. I can’t.
29. Harry: Oh, no! What did I do? I spilled my drink all over you! I’m so sorry!
Susan: __________
A. You are welcome. B. It’s okay. Don’t worry about it.
C. My pleasure. D. You said it.
30. Larry: Why don’t we see a movie tonight?
Kent: Great. What do you want to see?
Larry: __________
A. Anything you want.
B. I have no idea.
C. Would you recommend me some choice?
D. How about a science fiction movie?
Part III: Vocabulary and Structure???(30 points)
Section A
Directions: In this section there are 20 incomplete sentences. For each sentence there are four choices marked A, B, C and D. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
31. Work hard _______ you’ll get your reward.
a. x b. or c. and d. moreover
32. The fur coat is _______ soft and warm.
a. both b. either c. neither d. but
33. _______ his age, the old man was active.
a. Although b. In spite of c. Even if d. Because of
34. _______ your answer _______ his is wrong.
a. Both… and b. Not only… but also c. Neither… or d. Either…or
35. I didn’t pass the exam. _______.
a. Neither he did b. Nor did he c. So did he d. Neither does he
36. You must work harder, _______ you can’t keep up with the rest of your class.
a. but b. so c. and d. or
37. Jack broke the rules of the school; _______ he had to leave.
a. consequently b. so that c. subsequently d. consistently
38. Successful _______ she is, she is not proud.
a. although b. if c. as d. when
39. _______ you work harder, you will not pass the mid-term exam.
a. If b. Unless c. When d. Once
40. _______ Tome likes the color of the hat, he does not like its shape.
a. When b. Even c. Because d. While
41. The reason she didn’t come was _______ she was too busy.
a. which b. why c. that d. because
42. _______ Jim will go doesn’t concern me.
a. Whether b. If c. Once d. Provided
43. _______ finished these words than she cut in.
a. No sooner he had b. No sooner had he
c. No sooner he did d. No sooner did he
44. The question is not easy. _______, it is rather complicated.
a. For that reason b. On the contrary
c. On the other hand d. In addition
45. He must leave now, _______ they’ll soon have a meeting.
a. because b. as c. since d. for
46. Jenny worked _______ hard _______ she was ill.
a. such… that b. so… that c. so… that d. for… that
47. The case is very heavy _______ it were made of lead.
a. as if b. that c. as d. even if
48. The postman must deliver the mail no matter _______ bad the weather is.
a. what b. when c. how d. where
49. _______ you understand the rule, you will solve the question easily.
a. Even though b. Although c. Though d. Once
50.? In comparison with its own size, a blade of grass looks _______ to an ant as a tree does to a human being.
a.taller b.tall c.as tall d.more tall
Section B
Directions: There are 10 blanks in the following passage. For each blank there are four choices marked A, B, C and D. You should choose the ONE answer that best completes the passage. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
In order to work here the foreigner needs a work permit，which must be applied for by his prospective employer. The problem here is that the Department of Employment has he right to51or refuse these permits, and there is little that can be52about it; it would be extremely unwise53aforeign visitor to work without a permit, since anyone doing so is54to immediate deportation. There are some55to this rule, most notable people from the Common Market countries， who are56to work without permits and who are often given temporary residence permits of up to five years. some57people, such as doctors, foreign journalists, authors and others, can work without permits.
The problem with the Act is not just that some of its rules are unfair but58it is administered, and the people who administer it.
An immigration official has the power to stop a visitor59these shores coming into the country. If this happens the visitor has the60to appeal to the Immigration Appeal Tribunal. While the appeals are being considered, the visitor has no choice but to wait sometimes for quite a long time.
51.? A．allow B．admit C．present D．grant
52． A．made B．done C．explained D．talked
53． A．for B．to C as D．in
54． A．apt B．1ikely C．1iable D．inclined
55． A．exemptions B．exceptions C．excerptions D．expositions
56． A．prescribed B．qualified C．entitled D．certified
57． A．more B．fewer C．others D．other
58． A．the way B．that C．the time D．what
59． A．out of B．to C．from D．off10
60．A．honor B．force C．right D．authority
Part Ⅴ: Writing (20 points)
Directions:For this part, you are allowed 30 minutes to write a composition on the topic “Youth” You should write at least 80 words and you should base your composition on the outline given below in Chinese. You should also write your composition on the back of theAnswer Sheet:
1.青春是人生的一份珍贵的礼物和黄金时期。
2.?人生中青春只有一回，故我们不应荒废、蹉跎。
3.?假如我们认识到青春的珍贵，那不论我们是在年轻时还是略微年长时，都将不断进取

参考答案：
Part I Reading Comprehension(40 points)
1.d 2.b 3.a 4.d 5.c 6.d 7.a 8.d 9.a 10.c
11.c. 12.d 13.c 14.c 15.a 16.b 17.d 18.d 19.a 20.b
Part II? Use of English (10 points)
21. A. 此对话是有关预定宾馆房间的。从宾馆服务人员的回答我们可以看出，顾客是问还有没有房间了。所以A项“你们有没有空房间？”是正确答案；B项“我可以看一下你们的房间吗？”没有进一步的回答来应对；C项“住一晚多少钱？”跟下文重复；D项“我们要一个在三楼的房间？跟宾馆服务人员的回答相矛盾。
22. D. 此对话中，Marvin问Nike一个问题，Nike回答说“我有时候回家看看。”。A项“你上周去那里了？”问的是地点；B项“在香港的度假如何？”问的是具体情况；C项“你为什么回来？”问的是原因；D项“你周日怎么过啊？”符合该对话场景，故是正确答案。
23. A. 此对话谈论理发。Marvin的回答是“试一试商场里的沙龙。”，由此可见Leo想知道在那里理发。A项意为“你能告诉我哪个地方理发好吗？”正好与此场景相吻合；B项“我怎么才能理发呢？”、C项“我应该留什么样的发型呢？”和D项“我喜欢你的新发型。”都与该对话场景不符。
24. A. 此对话是致谢的。B项有语法错误。正确的应该是“You are welcome.”；C项用于致谢，适用于礼貌地拒绝别人的服务和建议；Melissa的话证明她一直在想着如何感谢Mary，符合场景的是A项“不要放在心上。”；D项“不用谢。”用于回答“Thank you!”。
25. D 此话是客户和职员间打电话的场景。从客户最后一句话我们可以看出，刚才他犯了一个错误。因为顾客说“哎哟，你是对的。您能帮我接过去吗？”，所以D项“哦，你肯定是找Michael Kareen。”符合场景，是正确答案；A项“好的，请等一会儿。”、B项“您是哪位？”和C项“对不起，她出去了，我可以给她留个短信吗？”均没有提醒客户犯了错误。
26. B. 此对话中游客问当地居民到火车站有多远。A项“恐怕你走错了方向。”、C项“马路尽头有一家。”和D项“任何时间想去都可以。”均不符合上下文场景；只有B项“只有五分钟的路。你可以直走，然后到第一个红绿灯处左转。”既回答了多远的问题又告诉了该如何走，最符合场景，所以是正确答案。
27. B 此对话是讨论天气的。通过对话可以得知天气好象要转晴，但Ken说听说不久要变冷，Kevin接着表示“哦，可别这样。”。A项“我喜欢冷天气。”和Ken说“好消息！”均与Kevin的回答不符合；C项“我喜欢雨天。”与颉颃竟不符；只有B项“不要再这样了。”是正确答案。
28. D. 此对话是对提议做出回答的。从对话的内容我们知道Stacey拒绝了Jason的邀请，因为天晚了，并且她第二天还要考试。A项“好啊，好注意。”和C项“我愿意。”都表示了同意，所以不能选；既然不愿意去，就不可以问“去那里了？”故B项也不是正确答案；可见只有D项“对不起，我不能去。”是正确答案。
29. B. 此对话是致歉的。Harry将饮料倒了Susan一身，不停地说对不起。A项和C项都用于回答“Thank you.”；D项意为“你是正确的。”；能够应对别人致歉的话只有B项“没事，不要在意。”
30. D. 此对话是关于看电影的。从下文Kent的回答“我愿意去。”来看，Larry提了个建议。A项“随便你了。”B项“我没有想法。”和C项“你有什么好推荐吗？”都不符合场景；只有D项“看科幻片怎么样？”是提建议，故D是正确选项。

Part III Vocabulary and Structure (30 points)
Section A
31.c 32.a 33.b 34.d 35.b 36.d 37.a 38.c 39.b 40.d
41.c 42.a 43.b 44.b 45.d 46.c 47.a 48.c 49.d 50.c

Section B
51．[答案]D 本题考查考生根据上下文选择词义并进行词义辨析的能力。根据句意以及空白处后面的词or可以推断，空白处要选择一个与renJse相反并且能与出esepermits搭配的词。四个选项中只有grant适合。grant意为“授予(权利等)，准许”，往往表示某一机构或政府当局所授予之物或正式或依法给予某物。如：These land were granted to our family in perpetuity. 这些土地依法永远归我们家族所有。The minister granted journalists an interview. 部长答应接见记者。本题正是指官方所授予的权利，故D为正确答案。allow没有“授予’’之意，但有“准许，允许”的意思。allow偏重“听任”或“默许”，也就是说仅仅“不加阻止”。如：The nurse allowed the visitors to remain beyond the hospital visiting hours, though it was not permitted. 虽然这是不许可的，但护士却允许探视者超过医院规定的探视时间。That teacher allows too much noise in the room. 那个教室默许教室内有过分的吵闹声。由此可见，allow用在此处不合题意。 admit意为“承认”。如：She admitted having read the letter. 她承认她读过这封信。present意为“将某物赠予或交给某人；(尤指在仪式上)授予”。如：They presented a sum of money to the college in memory of their son. 他们向学院赠送了一笔款项以纪念他们的儿子。该词不能与right搭配使用。本句大意是：问题是就业劳动部门有权准许或拒绝就业许可证，在这个问题上没有什么机动的余地。
52．[答案]B 本题测试根据上下文选择词义的能力。上文谈到外国人在这里工作必须申请工作许可证。这是法律程序，没有什么机动的余地。根据此意，只有done符合题意，所以B为正确答案。
53．[答案]A 本题测试了一个语法结构，即动词不定式的逻辑主语。在It + be + 形容词 + to do这个结构中，“是形式主语，to do是真正的主语。to do可以带有自己的逻辑主语，即在to do前加介词for + 名词或代词。如：It is very important for a teacher to prepare lessons. 老师备课非常重要。由此可见，A为正确答案。
54．[答案]C 本题考查词的搭配。be apt, be likely, be inclined后只能接to do sth. ,不能接to sth. 。但是be liable后既可接to do sth. 也可接to sth. 。由此可见，C为正确答案。be liable to sth. 意为“应受(处罚等)”或“易遭……”。如：If you disobey the law you are liable to arrest. 你如果犯法，就可能遭到逮捕。She is liable to bad colds. 她容易得重感冒。Be apt to do sth. 意为“易于’’或“有可能”。如：Wheat sown on moist land is apt to blast小麦播在湿地里容易烂种。Am I apt to find him at home？我有可能在家里找到他吗? be likely to do sth. 意为“可能的”。如：She is very likely to ring me tonight. 她今晚很可能给我打电话。Be inclined to do sth. 意为“倾向于做某事；想要做某事”。如:I’m inclined to believe in his. innocence. 我倾向于相信他没有罪。I am inclined to forgive him because of his youth. 因为他年轻，我很想原谅他。本句大意是：外国人没有得到工作许可证就工作是极其不明智的，因为这很可能招致立刻驱逐出境。
55．[答案]B 本题测试考生根据上下文选择词义的能力。前面谈到外国人在这里工作必须申请工作许可证，下文又说来自欧共体各国的人们无须工作许可证就可以在这里工作，还有一些像医生、外国记者、作家等人也可以不要许可证就能工作。由此可见，还是有例外的。因此，空白处应该填exceptions。四个选项词形非常相似，但词义各不相同。exception意为“例外”。如：Each candidate must answer a11 the questions without exception．每个考生都必须回答全部问题，没有例外。exemption是exempt的名词形式，意为“免除，豁免”。如：He was exempt from charges by virtue of being so young. 他因年幼可以免费。excerption是excerpt的名词形式，意为“摘录，节录”。如：I’ve seen a short excerpt from the film on television．我在电视上看过这部影片的片段。exposition意为“博览会”。如：We’ll invite the world to participate in an international exposition．我们将邀请世界各国参加国际博览会。
56．[答案]C 本题测试考生根据上下文选择词义的能力。选项中的四个词意义各不相同。prescribe 意为“开药方；规定”。如：Ask the doctor to prescribe something for that cough. 请医生开点咳嗽药。The law prescribed certain penalties for this offence. 法律对这种违法行为规定了某些惩处办法。qualify意为“(使)胜任，使合格”。如：Strictly speaking, he’s not qualified for the job. 严格地说，他不胜任这份工作。entitle意为“有权利”。常用于entitle sb. to sth. 或entitle sb. to do sth. 结构中。如：This ticket entitles you to a free lunch. 凭此券你可免费吃一顿午餐。certify意为“(尤指书面)证明(某事物)”。如：He certified that it was his wife’s handwriting. 他证明那是他妻子的笔迹。根据以上分析，只有entitled符合句意，为正确答案。
57．[答案]D 本题考查代词、形容词的用法。上文说来自欧共体各国的人们无须工作许可证就可以在这里工作，本句讲到还有一些像医生、外国记者、作家等人也可以不要工作许可证根据上下文的逻辑，只有other适合，为正确答案。other作形容词使用，没有复数形式。others只能用作代词，意思是other ones(另几个)或other people(另外的人)。如：Have you got any other colors?你有别的颜色吗?Some metals are magnetic and others aren’t. 有些金属有磁性，有些金属则没有。故others不是答案。其他两个选项more(较多的)和fewer(较少的)既不符合句意也不符合句法。
58．[答案]A 本题测试考生根据上下文与语法结构选择词义的能力。本句大意是：这一法案的问题不仅仅是有些条款不公正，而且实施的方式及执法人员也有问题。显而易见，空白处需要填一个表示“方式”的词。四个选项中只有A适合，所以为正确答案。B选项是一个很强的干扰项，试题设计者试图以not… but… (不是……而是……)结构来干扰考生的逻辑思维。考生要注意and连接的是平行结构。who administer it 是定语从句修饰the people，意思是“执法的人”，因此and前的it is administerd 也应该是定语从句修饰空白处要填的名词。
59．[答案]D 本题测试根据上下文选择正确的介词。文中提到移民局的官员有权阻止一个外国人进入其国门。四个选项中只有off有“和……离开，从……脱离”之意。如：Keep off the grass. 勿踏草地。out of是一个干扰项。out of可以表示很多意义，其中有“在……外面”的静态意义，反义词为in，常与town, district, state等名词连用。如：He is now out of town. 他眼下不在城里。所以out of用在此处不适合。故只有D为正确答案。
60．[答案]C 本题测试考生根据上下文选择词义并辨析词义的能力。本句话的大意是：当移民局的官员不让外国人人境时，外国人有权向移民申诉庭上诉。四个选项中right意为“权利”，authority意为“权力”。“权利”和“权力”是有很大区别的。right是常用词，表示由法律、道德或宗教所认可而建立起来的具体的权利。如：the rsght of equality before the law法律面前的平等权；the right of an Arab to have several wives一个阿拉伯人可有多个妻子的权利。authority等同于power。考生只要了解它是power的意思就可以了。如：Who is in authority? 现在谁掌权?She now has authority over the people she used to take orders from. 她现在有权力支配那些一度向她发号施令的人。 根据以上分析，正确答案应该是right。honor意为“荣幸；荣誉”。如：n is a great honor to be invited. 承蒙邀请，十分荣幸。My honor is at stake. 我的名誉利害攸关。honor与句意完全不符，故不是答案。force意为“力，力量”。如：They used brute force to break open the door. 他们靠蛮劲把门撞开了。force也与句意不符，也不是答案。

Part IV Writing (20 Points)
Directions: For this part, you are allowed 30 minutes to write a composition on the topic “Youth” You should write at least 80 words and you should base your composition on the outline given below in Chinese. You should also write your composition on the back of theAnswer Sheet:

Youth

Youth is a precious gift and a golden time in our life. When we are young, we are strong and healthy. It is the time for us to prepare ourselves to become responsible citizens.
Youth comes only once in a lifetime, therefore, it is important that we should not waste those years in idleness and bad living. This is also the time when our memories are best. We are able to learn more during this time than when we become older. During our younger years, we have the enthusiasm to set high goals for ourselves. We also try to overcome obstacles which are placed in our way.

If we realize how precious youth is. We will be fulfilled when we are young as well as when we are older. If we waste our youth, we will spend the rest of our lives wishing we could be young again


